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Question 1: A cube of side length 8 cm is taken and small cubes of 2 cm length are cut along all
the eight corners of the cube. By what percentage does the total surface area of the cube
changes? 

a) 5%  
b) 12.5%  
c) 20%  
d) None of these 

Question 2: A cuboid of dimensions 45cm, 75cm and 90cm is to be divided into identical cubes of
side X cm. What is the maximum possible value of X? 

a) 10  
b) 12  
c) 15  
d) 17 

Question 3: Four cubes are placed adjacently in a row. What is the ratio of the surface area of the
new cuboid to the total surface area of the four cubes? 

a) 9/16  
b) 3/4  
c) 16/9  
d) 4/3 

Question 4: A cube of side 3 cm is cut into smaller cubes of side 1 cm. What is the ratio of Total
surface area of the larger cube and the sum of the total surfaces of all the smaller cubes? 

a) 1:1  
b) 1:2  
c) 1:3  
d) 1:4 
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Question 5: A cube of side n is painted green on all its sides. It is then cut into  
identical cubes. How many of the smaller cubes will have three of its sides painted? 

a) 4  
b) 6  
c) 8  
d) cannot be determined 

Answers & Solutions:  

1) Answer (D) 

Each cube that is cut had three sides exposed outside and three sides not exposed when it was
in the bigger cube. 

2) Answer (C)   

As it is given that the smaller cubes to be formed are to be identical and for the side of it to be
maximum it has to be the HCF of the dimensions of the given cuboid. 

HCF of 45, 75 and 90 is 15. 

Hence the maximum possible value of the side of the smaller cubes is 15. 

3) Answer (B) 
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4) Answer (C) 

Total surface area of the larger cube = 6*3*3 = 54. 
Total surface area of a smaller cube = 6*1*1 = 6. 
The number of smaller cubes = 3*3*3 = 27. 
Sum of the total surface areas of all the smaller cubes = 6*27 = 162.  
Thus the required ratio = 54:162 = 1:3. 

5) Answer (C) 

Since, all the sides of the cube is painted, the cubes cut out from the corners will have three of its
faces green. Since there are 8 corners for a cube, there will be 8 such cubes. 
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